
Negative Zahlen

Multiplikation bis 100

Variante

Blatt

10

14
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1 a)
(+22) (-4) = b)

(-5) (+20) =

c)
(-41) (-2) = d)

(+6) (-10) =

e)
(-45) (+2) = f)

(-3) (-28) =

2 a)
(+14) (-6) = b)

(-4) (+15) =

c)
(-18) (-5) = d)

(+3) (-23) =

e)
(-17) (+4) = f)

(-2) (-36) =

3 a)
(+10) (-7) = b)

(-3) (+32) =

c)
(-9) (-8) = d)

(+3) (-30) =

e)
(-10) (+6) = f)

(-2) (-47) =

4 a)
(+18) (-4) = b)

(-7) (+13) =

c)
(-20) (-3) = d)

(+2) (-35) =

e)
(-16) (+4) = f)

(-2) (-43) =

5 a)
(+16) (-5) = b)

(-4) = -72

c)
(-3) = 51

d)
(+5) (-13) =

e)
(-26) = -78

f)
(-48) = 96
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1 a)
(+22) (-4) = -88

b)
(-5) (+20) = -100

c)
(-41) (-2) = 82

d)
(+6) (-10) = -60

e)
(-45) (+2) = -90

f)
(-3) (-28) = 84

2 a)
(+14) (-6) = -84

b)
(-4) (+15) = -60

c)
(-18) (-5) = 90

d)
(+3) (-23) = -69

e)
(-17) (+4) = -68

f)
(-2) (-36) = 72

3 a)
(+10) (-7) = -70

b)
(-3) (+32) = -96

c)
(-9) (-8) = 72

d)
(+3) (-30) = -90

e)
(-10) (+6) = -60

f)
(-2) (-47) = 94

4 a)
(+18) (-4) = -72

b)
(-7) (+13) = -91

c)
(-20) (-3) = 60

d)
(+2) (-35) = -70

e)
(-16) (+4) = -64

f)
(-2) (-43) = 86

5 a)
(+16) (-5) = -80

b)
(-4) (+18) = -72

c)
(-17) (-3) = 51

d)
(+5) (-13) = -65

e)
(-26) (+3) = -78

f)
(-2) (-48) = 96
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